Sample Midterm 2 for Math 105

1  ind the derivative of the function

f{z) = 3:2/:‘&.9‘1{1 (%f) dt

at the point x = 3.

2. Use Simpson’s rule {o approximate

2
/ Inxdx
N1

with n = 4 subintervals. Find a bound on the error. No need to simplify your
answers!

3. {a) Find the indefinite integral

fsins'(:c) cos’(z) dz.

(b)  Obtain the partial fraction decomposition of the function

4.' (a) Tind the definite integral /
72
/ SGC?.’EdSL‘.
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e
(b) Evaluate / f(3z) f(32) dz, where J/{(z) is the derivative of f{x), f{6) = 0and f(3) = :
J1



Solve the initial value problem

- Evaluate the definite integral:

ISvaluate the following limit

e T R

0300 ?'2.'




g[]g@m L %%k Mibtso = fw Meath

[ 1{% :ZXJ %WC )JH ‘){ Q@”‘”( = ffa):o;;w(%‘)

2o SER) [l bk (S )41;@”()114@ (F )1t j/zf
f(x)ﬂﬂm(y f()(x) ”70 < lf m)/ < & ofr Xin(],2). Hems
o eno prnd fqy < E2 Dy £ )

3. @ jw\w@ K% = jw% [«-vﬂo()m?(a{?( “*“’:J(f M}M (/(u)
] 5 [/{u gnm@m
::.j (/M"Lu“)a(um_j‘{‘m g AT U

l) il / (}fC

ey,
Ckrz () tes) g o %—7: ACB) @ (o)
A== /}:7/’\;)) A:ﬁ}/Z v ‘ /x:m}ﬁay ~/ox -7 =) fB= /0/7

wji - ("5/7) 5
R T N

()




4' (&7 JJTXWEXAX -
jsmdx ﬁf) ﬂcﬂw/k o b - 0)zom

° 76%)“

]JW . m‘;z?/me /waﬂ/!jﬂwf

é{ox}) {(59(){(%)4)(
/uf(x m’{(;x) / j

U }{ (}7() Y= ifGX)
/f@x}f K Ax = /L(f(é) w{(})) '[(0 ()
j fw)f (sX)olx= —

v / f(/x)f(md X

" %:%@7” {eUt? /ﬂ JW7 fbem}(,,

0 _ 2/
pot , v=el f{ jﬁa‘* {f) : L?-;’Ci'r(-@ (= —=
~Lov e

p=], veet Ww/ A




A= 948 ﬂﬂw%)
( % i(w
| ) :
o ik . :
y{(k:‘) y
%WM
{
Y
% b
O
- A4 (F

)



